FEAE2019-2020FF HEIRER (BARKR) http://www.edmschool.net
#lAlE|B|—-|Z|=lm|®"|AN BIER - BT BARA gg gg
111223456 Zggsﬁmg% 10/9 &R
2|8|9|w0]11|12|13|14 ?/139%%%?“@%@ 14/9  |HIKEFE A
13~20/9 YI—ER=RHHE S FE(EHER)
Al 3 |15|16|17[18] 19 20 | 21 |20/9 T EREIELE SHAIKIR , BB EIRA 18/9 19/9
A 21/9 FI—KREKR
4 (222324 25]26] 27| 28 [23/9 40 " %7, SESHEER)
26~27/9 BOEE
52930
5 2 3|4 8-9/ 10 =MF I HEE 1~2/10
1]2 S e 1o Rk AT /10_|BeEn
667 |8]9][10]|11]12]|21-26/ 100 REFHEE 710 |mEBEESH
2 g 7 |13|14|15]16] 17|18 19 16/10 | 17/10
2 8 |20|21|22|23]|24]|25]26
9 9 |27]|28[29|30]31
o1 BENREE B
> 2L 2 Doiae/11 g omeRmEs
+|10]3]4]s5]6]7]8]|09 MANHEERREILE
—|11|10]11|12]13]) 14| 15|16 13/11 | 14/11
RID 171819 20]21]22] 23
13|24 25| 2627|2829 |30
14 2 3 4 5 6 2/12&§§$ﬁtt§LﬁEl 8/12 i =
1 7 5-6/12 &E?ﬁ / ERRIRGRRRE
4 [15] 8 |9 |t0]11f12]13]1d]13/12 WE—ERR o/12 |EREEmEEeEEE | /2 | 1212
= {1615 16|17 [18]19] 20 ;133@?§*X%ﬁ%§ FARIBLLE 20/12 | RPIRERSIAESE BH
R 17 (2223 | 24| 25|26 | 27 | 28 |19/12 ERSERE: 21-31/12 |ERBHRLERNA
18129 (3031
18 11234 1B BRMRIEE - DEREE 11 STHRHE
19|56 7|89 1011 22/1-3/2 |EHREA
g 20 (12|13 |14|15]16] 17|18 15/1 16/1
2119|2021 (22232425
221262728 [29]30]|31
22 1 [10~142R=FFKIT
—22/24) ~ ®PEENR
(28] 2[3]4[5]6]7 |8 |2BRNMERER- - SAEBRE
Hl24]o|wofu)i12f13])14f15
25|16 |17 | 18| 19| 20] 21| 22 19/2 20/2
26 (23|24 25|26 |27]28]29
5[3H=Frm—ENNES
2jil2)s|4]5]6 130/3%5&&“5
|28 8| 9 |10)11]12]|13 |14 |31/ EtnEEtRILEE HARE
E 29 (15|16 |17]18]19] 2021 18/3 19/3
30(22|23|24|25(26]27]28
31(29(30]31
17/6R %L _BRER i
L S IR Ry i/ LR 4s |RABER
32|5[6|7]8]9 |10l |26/4FPRRAXBRRBEASILE  NFESHH 9-13/4  |EEERH
E 33(12|13|14|15) 16|17 |18 30/4  |GhEANRE 15/4 16/4
34(19|20]21]22|23]|24]25
g 35|26 |27]28]29]30
4-12/5m=BRFEER
2| |3 112 flonsh=mEEEa o |pEEBER
0 6|3]lals]e]7]8]o 22/55_)1’3¥|%E$‘ﬂ5§2f§§
Eo 23/6m LR - AIPEENH
E 3710|1112 13| 14| 15 | 16 |25~29/5/=Hi%E 13/5 14/5
38|17 (18| 19|20 |21]22]23
39 (24]25]26]27]28]29]30
40 | 31
40 1]2]3]4a]s]|s |0/EREEEREE 25/6 | #
= |15/6 " RIE—HE » BHLELIRA fo |mFHE
41| 7| 8|9 |10|11]12|13|19/6E=4REIRHE
X 2/6HBEE=2X45R
B [42|14|15| 16| 17| 18] 19 | 20 |23,04,26,20/6 BH=B2@ARH /6 | 18/6
4321|2223 (24 |25]26]27
44 | 28 [ 29| 30
1~3/7 ~ 6[TB=E&ZH,
44 1] 23] 4 |o-10/78=B8mmsk
s s5]el7|8]o|o]u|/B E;
8 13/ 7 e SR 5B = AR
+ 15-17/78 =BRfE
I 46 | 12| 13 ) 14 | 15| 16| 17| 18 |oo/7 FoFmEREE 13/7 13/7
247 L HEZER
4719|2021 22]23) 24| 25
48| 2627|2829 |30]31

[ 2R05E - 25 BEEg]




